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= L V> = l(800)(10)2 = 40000.J
2 2
K, = %m V) = %(800)(20)2 =160000/

W =K,—-K,=160000-40000=120000/

P = Vo 120900 = 24000w
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W =mgh = (100)(10)(5) = 5000

W 5000
(20

P = =250w =0.25Kw
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6 E, =E, L J>
K, +U,=K, +U,

0
\l}l{(j +mgh, = lm V> +mgh,

2 2
1

]
(10)(16) = EV; +(10)(4) = 160-40 = EV; =

120 = %V; =V 2=240=V, =240 =15.5m /s
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E =F, .
K, +U,=K,+U,

0
lmVl2 -l—m‘?h\: %mV; +mgh,

2
1 o) 1 2 1 2
5(20) = EVZ +(10)(2) = 200-20 = EVz —

180=%V22 =V 2=360=V, =360 =19m /s
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E, =K1—|—U1=5mV12—|—mgh1:> : Jo

E = %(0.01)(0)2 +(0.01)(10)(2) = 0.2J

1
E,=K,+U, =§mV22—|—nfzgh2 =

E, = %(0.01)(2)2 +(0.01)(10)(0) = 0.02]

E,-E, =W, =002-02=W, =W,6 =-0.18J
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L, =L, =K, +U,=E, P

%mVAZ—I—mghA =L, =

0+(2)(10)(1.5)=E, = E, =30J

Eo—Ey =W, =
0-30=W,6 =W, =-30J




